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SECTION A

(1) Translate the following passage from a seen text into English and

answer the accompanying questions:

(a) [12 marks]
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YAMAMOTO MOTOKO, ‘Shogi’, in Yamamoto Matoko, Nihon no denté
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(b) Explain the differences between BIfED L 5 72 and #EN7 L7= & 5 T9. Give
one example of each in Japanese with English translation. [4 marks]

(c) ®|INDHZ &7 £ L7z Explain the use of = £ 1272 Y £9 and give two
examples in Japanese with English translations. [4 marks]

(d) Hi721% & T L 7= Explain the meaning of (X & T L 7z and give one example in
Japanese with English translation. [4 marks]

(TURN OVER)
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(2) Translate the following passage from a seen text into English and answer

the accompanying questions:

(a) [12 marks]
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KOBAYASHI TSUYOSHI, ‘Dokusho sakuru’, in Atoda Takashi (ed.), Shoto

shéto no hanataba 1 (2009), pp. 240-41.
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(b) Explain the grammar in the phrase Zx T%H H 272 725 9 7). In what
way does this phrase differ from %tz T < 72 2 ? [4 marks]

(c) < 7= TNZ Explain the use of 72 TMZ and give one example sentence
in Japanese with English translation. [4 marks]

(d) #iiF CTIE L\ Explain the use of TIZ L\ and give one example
sentence in Japanese with English translation. [4 marks]

(TURN OVER)
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(3) Translate the following passage from a seen text into English:

[12 marks]
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YU MIRI, ‘Sakana ga mita yume’, in Sakana ga mita yume (2000), pp. 18-19.
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SECTION B

(4) Translate the following passage from an unseen text into English:

[40 marks]
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(TURN OVER)
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Question (4) continued...
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Question (4) continued...
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i 9% escape from EGE= HAGE

IBUW) T % chase, follow # O F 2 mimic

P =1 1% facial expression

{H$ acting HZA=\D1

J& bottom 1 B3 % have an interest in

& 9 L all right! B4 courage

5% % 9 behave V> Z < name of the author

VE#% strategy EAT 5 establish

L3 5 keep in mind A EFEE student counselling and guidance

FEMRIZ positively, actively 2 & %t school principal

DEOL=DILD P4 % Z 2% across different school years
K &< frank, candid FRAENC 72 D get a name for
FIE=1FEAL 1E < 12 L CHHNIT looking at it from my point of view

£ % ->1F %5 have courage

IKKOKUDO, Boku wa, itsu demo boku datta (2012), pp. 104-8.

END OF PAPER
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